 Trig Ratio Practice

Find the following Ratios:

leave as a fraction
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5) cos(b) = =

N



P2 50 0= 5
m T2 K=T%m 10

F2 Z_w(,@ L[L , T
. @ "

14 )‘i :w{‘f}‘{ﬂ
y . g @ LGQ qb » 2 [W
RS ) P }
b A3 f = 1.0
) 65
5 w 7 20 8
y 18 g, 4 x 10
16 o
. o -
- o cos ()= K o~
e K%‘?Zi '@"’ < &’@m o ?ﬁﬂ tf% b4
Cz18h%2 %z%ch:['(}'@ A5l 1o
D S
%~-{§;; F= 1O

2.

15

\};!;{-,—...._-

{

HTTTY

12
o %
> \Z
bl - 3
. ;,?:d



Converse of the Pythagorean Theorem Maze Answer Key Name:
Directions: Determine if the lengths shown create an acute, obtuse, or right friangle. Follow the
correct directions fo complete the maze correctly. You must show your work to receive full credit!

Acute

11,12,13

Acute

Acute

512,13
Right
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